
Needles: US 8 (5 mm) circular and/or 
double pointed needles

Yarn: Approximately  105 yds (96 m) 
worsted weight or slightly heavier. 
Example combines worsted and sock weight yarns.

Gauge:  4½ stitches + 5 rows = 1 inch  
in stockinette stitch.

Abbreviations:
st: stitch
dpn: double pointed needles
k: knit stitch
p: purl stitch
k2tog: slide right hand needle  
through two stitches and knit both  
at the same time.
ssk: slide two sts to the right hand 
needle as if to knit. Insert the left hand 
needle into the fronts of the sts and k 
them together.

Start
Cast on 89 stitches.
ROW 1: Move last st next to the first st 
and k2tog to join row, [p1, k1] to last st, 
p1. (88 st total)

ROWS 2-5: [k1, p1] to end.

PATTERN REPEAT ROWS

(See chart below)

ROW 6-8: [k1, p3] to end.
ROW 9: [k1, p1] to end.
ROW 10-12: p2, [k1, p3] to last st, k1.
ROW 13: [k1, p1]  to end.

ROWS 14-21: repeat rows 6-13. 
ROWS 22-29: repeat rows 6-13. 
ROWS 30-37: repeat rows 6-13. 
ROWS 38-41: repeat rows 6-9. 
Hat should be approx 7 in (18.8 cm) long 
before crown decrease begins. 

Crown Decrease
See chart below. Change to dpn when 
work gets too small.
ROW 42: [ssk, (k1, p3, 4 times, k1, p1, 
  k2tog, ssk, p2, (k1, p3) 4 times, 
  k2tog] 2 times. (80 st remain)

ROW 43: [ssk, (p3, k1) 4 times, 
  k2tog, ssk, p1, (k1, p3) 3 times, k1,  
  p2, k2tog] 2 times. (72 st remain)

ROW 44: [ssk, p2, (k1, p3) 3 times, 
  k2tog, ssk, (k1, p3) 3 times, k1, p1,  
  k2tog] 2 times. (64 st remain)

ROW 45: [ssk, (p1, k1) 6 times, k2tog,   
  ssk, (p1, k1) 6 times, k2tog]  
  2 times. (56 st remain)

ROW 46: [ssk, p2, (k1, p3) 2 times,  
  k2tog, ssk,  (k1, p3) 2 times, k1, p1,  
  k2tog] 2 times. (48 st remain)

ROW 47: [ssk, p1, k1, p3, k1, p2,  
  k2tog, ssk, (p3, k1) 2 times, k2tog]   
  2 times. (40 st remain)

ROW 48: [ssk, k1, p3, k1, p1, k2tog,  
  ssk, p2, k1, p3, k2tog] 2 times.  
  (32 st remain)

ROW 49: [ssk, (p1, k1) 2 times, k2tog,  
  ssk, (p1, k1) 2 times, k2tog]  
  2 times. (24 st remain)

ROW 50: [ssk, k1, p1, k2tog, ssk, p2,  
  k2tog] 2 times. (16 st remain)

ROW 51: [ssk, k2 tog] 4 times.  
  (8 st remain)

Bind off and weave in ends.

Interweave Hat   
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Example knit with Bernat Satin Solids in Mocha and Patons Kroy Socks FX in Camel Colors.

PATTERN REPEAT  
ROWS  (6-13)  
Repeat chart 11 times  
for a full round.
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CROWN DECREASE ROWS  (42-51 )  
Repeat chart 2 times for a full round.
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Flat Measurements
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A: 7 in  
(18.8 cm)
B: 2 in
(5.1 cm)
C: 9 in
(22.9 cm)
D: 8 in
(20.3 cm)


